&F0 545 i = X 15
HXATF 4« 48R EBRSE
e R ks @ A o w4 [P PEEERTIBEITOGES
| REWT—/ H Ecei 30% 1.1 i 4.§ 7.{:}71«@ 1.{;@ 1f7 i |
A ELIEE) o2 4 M I PR 0D 2 P 3 DX i 4. SE ] - -
LIS o Hitd; 30 | L1 el 1260 17 1.7
7% B BTAH%E et R BT PN 0D ot P i Xk — dopE 7. | —
EERLIA o Hitkek 30 | L1|h e.9f 114 6.6 6.6
AR BHETER Fr S R B PN 0D f AL Xk 4 Al T4 | —
LIS O Hi 30 | L1[P 7.9 1op 8.7 8.7
7R B BT Eoes 40 | L1[Pe.gt 9.0 | —
RETANASE (R 40 | L1 e s
7r B ETHE S L ol P O 2 S 3 —fit 5. T@ g0 —| -
LFRLLA o Hie 30 | L1484 124 1H 11
NS PR ESe 30 | 1.1 |l 4. 30 5. O 1. Gt 1.5
TREETE) IR 30 | L1 W4 9E: 8. BE@ 1ol 1.9
] HET ﬁgﬁ%@hwﬁﬁ%f@iﬁj@fﬁ&) HILTWNDHHL
1 Bl g — | BEAR (V] LY b YT L T LY
2 ERRES O HE 40 | 1.1 Jﬁth@gtﬁ’éﬁbﬁﬁéﬁth@
ERRLIA O itk -1 - —f 1.1 1.1
ZHH EiE 16 55HBn
1 REERBE R o0 B A il O it 4T 7.9 | —
2 LS R 40 | 1.1|F 6.6/ 8.8F 6.7F 6.7
ERLLASR D i 40 | 1.1 W 4. TE 7. 9l 2. 3%k 2. 3
AL Eeeit 30 | 110 3.1l 5. Ll 2. TR 2.7
HFE EE 1 6 5 &RV
1 REIRE e o B2 T Ik —l 428 7.9 —| —
2 LA oHER 40 119 6.0 8.8 5. 14 5.1
bFELAS O s 40 | 1.1 [ 4. 2 7. T@ 2. orﬁ 2.0
5| bRAHET £t — | B R RLYEE LR ER TR bR T
g b 1 ~ 5 /H [ 40 | 1.1 i I 1 8 [ £ 2 A




&F0 545 i = X °H
HXATF 4« 48R EBRSE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| HEHS R 1 ~ 5 BH] |2 40 | 1.1 —| [
HIL I 30
| KA gt 30
REF kA 30
2 SRIGTT S _
FAL1~T7THEN R 40
E/NEEE Fo S B PR oD F R L X i 4.8 6.6  —
_EFRLASh o> it
1 [EHE 165 BB 30 | L1|H 688 11F 8.7 8.7
2 LSO K 30 JTH 8.7
R IR 30
NN Eoei -
bz IR 30
=R Ext 30
TR Eeei 30
x| ot 1~ 5 HET |2 -
FEREAS 1 ~ 8 &HT Eﬁ%@k@ﬁﬁiﬁt&iﬁjd)ﬁb HAILTHADHL | — Encanpl=nicnifaaie
BoEAMEYN —H 7T 7T
FEEA T 1~ 7 FH) 25 50 wﬁﬁwﬁﬁw@
FERE S P 1 ~ 4 B H]208 - bt T B YT b Y
AEAT Esetr - FeYERT YT b T
| BR st 30 . 6. il 3. Gffi 3.
TR T L %ﬁ%@k@ﬁﬁi&ﬂiﬁwﬁ&) HILTNSH | 40 ¥ Ettﬁiﬁt?ﬁ[ﬁbﬂ%
_EERLIA 0 il
1 RS o = A KO — 4.5 7.7 — —
2 LFELh o g 40 | L1 7o 19t 14h 14
JRFFHT & H gﬁﬁﬁkomﬁ%ﬁ®ﬁm6nfwéﬂ Afi%ﬁﬁmﬁﬁmﬁﬁmﬁﬁm@




&F0 545 i = X 3E
HXATF 4« 48R EBRSE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| FEERFHT . HY LFELISY o> Hittel
1 BEEREUIEL P o B A X —l 4,500 8.3  —| —
2 LELISl o 40 | L1 7o 20tk 7.6fh 7.6
TRRFFAT I gﬁﬁﬁﬁkcf}%ﬁfﬂ@i@ﬁ&) BTV D HL
1 M e — | B B Lb R kT b e Lk e
2 hERLIA o Mg 40 1.1 Jﬁttiﬁ’;tti‘%ﬁ%tﬁfﬁtt@
LFRLIS D i
1 RFEREHR N O = A —%SﬂFTJ -1 -
2 _ERCLIAA DI 40 | L1 |F 8.4 18t 17 17
2m ot SRR BB P D 2 Y Mt D —p#E 3.9 7.7 — —
FCRAS o Hir e
1 EiE16 550y, EEMAERE |40 | L1F 6.8 12 5.0 5.0
AIRRE
2 RECEAh oot 40 | L.1|% 6.8 12% 1.8# 1.8
Ol S EiE 16 550w
1 REEHRBAI N O 2 A —ti 4.2 724  —|  —
2 LRRLUL o sk 40 | LO|H 6.0fF 7.6 5. 1P 5.1
LFRLIA O Hi 40 | 1.0 [ 4. 20 7. 200 2. O 2. 0
T WrB 1~ 5% | —-iﬁﬁ%mﬁgm@ﬁﬁﬁﬁmﬁ
A gﬁﬁ@twmﬁ%ﬁwﬁwanfwéﬂ 40 | 1.1 - - - -
ERLLASR D i 30 | 1.1 Wl 2. 60 6. 30 3. 7Rl 3.7
S| RET Eoei — | B Jﬁttﬁ%ttﬁiﬁbtﬁr;?blﬂ'@
) e — | BEAR |V EL I B b M b
i Esei: — | BEHR A ERHENE bR TET S e b T
E0&B1 - 28I |2 40 | 1.1 -  —[TeTET
L F/hEHE R T B A PN D S T B X B it 4. 7E 5.9 —| —
RFRLAA D His
1 16 5FiHBw 30 | 1.10d 7.4 1o 12 12




&F0 545 i = X 1H

HXATF 4« 48R EBRSE

e R ks @ A o w4 [P PEEERTIBEITOGES

% e = * ® = # ®

L T/ 2 BREELSOHUS 30 | L1 74 10 12 12

T g o2 4 M I PR 0D 2 P 3 DX —Fh 4.3 6.4 —| —

LELIA 0 HE 30 | L1 oe.gd 13 14h 14

T=& By 30 | 1.1[#0 3.5l 7.0t 2. 8% 2.8

R o SR LI PR oD f P B XU —|#ti 3. OE 8.5 —| -

EELIA 0 i 30 | L1 6. 1460 1.8 1.8

#rm Fo S B PR oD F R L X —ti 3. o8 6.2 —| —

EFRLIA o Hitkek 30 | L1|h 12 12d 8.7 8.7

FrE] eeics — | AR B L HEE L YET b M T

) TTOARE ESsEn 10 | 1.1 —| [T
1~ 4 ZH]

TTLARK B 40 | 1.1 —| [T
1~ 5 ZH]

R gﬁﬁﬁhwﬁﬁiﬁf&iﬁwﬁb HILTWAHL |40 | 1.1 [ L HEE P H e EL e

_EFRLAS 0 il
1 IR o 5 A Hl O —hl 5.0t 7.7 | —
2 EiE1l655H: 40 | L1|% 7 4[: 12/ 8.7 8.7
3 ERELSh O HukR 40 | L1 7.4 12+ 8.7 8.7

72| IR gy 30 | 1. 1[0 3. 2%l 3. 9l 4. 440 4. 4

2| 22 UL Ecein 40 | 1.1 — ﬁttié[ﬁtti’é

1~ 1 0FH]
S LN ER ety 40 1.1 — — Y EL T
1~ 8 &H]

T3 AR et 30 | L1l 3.5l 4. 30 2. 20 2.2
R =ty 30 | L1 3. Lh 4. Ol 2. 4% 2. 4
aabsuil Es: 30 | 1.1 (W0 4. 30 4. 10 1.8l 1. §
HET £t — | B R RLYEE LR ER TR bR T




ST 545 i = X 5E
HXATF 4« 48R EBRSE
e R ks @ A o w4 [P PEEERTIBEITOGES
7 2Rk Eﬁﬂ@kwﬁﬁ%ﬁwﬁbEﬂfwéﬂ Mﬁ Lf%ﬁé%ﬁ£$%£$%£ ’ ’
ERELASN 0 HiU
1 FEHOFEERAGERGO AT EL
&, el
(1) B3RP P oD S A i X Ik o 2.5%0 6.3  —| —
(2) BRSO HlR 40 | 11| 554 9.6l 2. 6ffli 2.6
2 kLo 40 | L1 [#0 2. T 6. 3%k 2. et 2. 6
2R gﬁ%@kwﬁﬁﬂﬁwiwahfwéﬂ
1 B 5 — | AR | L b M L e b
2 EERES R 40 L1E%@E%ﬁﬁ%ﬁﬁ%ﬁ
FCRAS o Hir e
1 BEEIREUMEL PN o B A i DXde — B O 77— —
2 EiE165FH 40 | 1.1|% 8.3F 194 6.9% 6.9
3 FELS o 40 | L1 8.3 197 6.9F 6.9
\Z| 7 R gﬁﬁﬂkw%ﬁﬁﬁwﬁbahfwéﬂ 40 | L1 | B YEE bR e R b
RFRLAA D Hitks
1 EFE AR
(1) JRHERBHISA O 2 M b —t 2. 7l 80| —| —
(2) LERELS ORI 40 | L1ff 7.2 15 17 17
2 LFELIA o e
(1) REiRW iR o> 52 F H IR A S I
(2) LEECAS R 30 | L1|f7gf 19t 17H 17
[Pt gﬁﬂﬁiw%ﬁﬁﬁwﬁw6h1mém 40 | 1.1 (8 PR R LT bR
LRELLA D s
1 RSERBUHEE PN 0 B T s it 2. 50 7.2f —|  —
2 _ERCLMAE Ot 40 | L1 P 6.8 17t 13 13




&F0 545 i = X 6
HXATF 4« 48R EBRSE
p| 7 TR aRe  E W % A e T Tk e | s [
N R HIER ﬁ?ﬁﬂ@k@ﬂ%iﬁf@mﬁ@?ﬁ&) BATHSH 40% 1. 1%J§Jttzfglﬁttz’§ﬁitt£$ttfg ’ ’
ERELASN 0 HiU
1 REHRE M o 52 T i —f 2.50 8.0 —| —
2 hEELIA o M
(1) TE P EARBHRA 40 | L1|F 6.8 14F 1 11
(2) S5<WITsaE 40 | 1.1 - - - -
(3) LRListoHg 30 | 11|46 gf 14 1 11
HET ﬁﬁﬂ‘ﬂ@kwﬂﬂiﬁfﬂiﬁi@ﬁ&) DITWDH | — | B | P P YT T b v
EFLLISN O HilE
1 FREEIRG R o B T 41T | —
2 LECBUt o HbR 40 | L1|F 7.4F 16 —| —
P ﬁgﬁ%@kmﬁﬁi&f@iﬁmﬁb LT DM | — | B | e b YT P e b
RELIS O 40 | L1|F 17 18 6.7 6.7
S BEEL ~6FE] |RIR 40 | 1.1 —| [T
T et 30 | 1.1 #3200 4. 90 1.5 1.5
EHHT Essin — | B Jartzé%tti/é[ﬁbtﬁ i bt
1F AHET Esein — | ERER B LY HERE Ly e L e L
&| AR Eeein — | B | LR bR YE T e T b T
AR Exiin 30 | 11 2.3 6. oﬁ 1. 5ffi 1.5
HZH Esetr — | B Jﬁlttﬁr;tt?%mttfﬁr;itt@
| AP st 30 | 1.1 | 3.2 7. 20 2. 8 2.8
R Eaei: 50 | 1.1 - —Fﬁtti’é[ﬁbti%
oS ) =t 5 | 1.1 = [T
kA IR Eeei 50 | .1 - —[ri EL M b H
Al g 30 | 1.1 [WE 3. 4 5. T@ 3. T& 3.9
R ] ﬁﬁjﬁ%@k@ﬁﬁiﬁt&iﬁjwﬁb HAIVTWDHL | — | BEHR | bR b b Y b T




A0 55y s ® K 7H
HXATF 4« 48R EBRSE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A FAET BRI o> ik = | L1 11
P E S T Eceiid 50 | 1.1 e T
F i AT %ﬁ%@k@%ﬁ%ﬁ@ﬁwemfwéﬂ 40 | L1 A LR b v b
RFRLLS D s
1 REEHRBAE PN O 2 A ot 508 7.7~ —
2 _ERELIAF DR 40 | L1 7.6 13 7.2 7.2
EHEMOETE IR 40 | 1.1 —F 19 15 15
EHETLO B Est 40 | 1.1 — o1y - -
FHEET 1 F i TR B P oD = P M X3 —l 3.8 6.2 —| —
LFRLIA o il 40 LU 13 129 18 16
FEREHT T 2 Ecsi 40 | 1.1 e R e T
FEHET o 33 Eoe 40 | 1.1 e T
ERATREA T o SR B P 0D o P L UK —t 3.8l 6.2f  —| —
RELIS O 40 | L1|f 13[: 12/ 15 15
S AT P 7 A Eoe 40 | 1.1 o
EEPAE gﬁﬁ@rwﬁﬁﬁﬁmﬁwaﬂfwéﬂ 40 | 1.1 | e b I L A b
LFELLS D i
1 RRREHR N O 2 Al b —l 2. 40 5.7 —|  —
2 _ERCEA DR 40 | L1 7.8 12t 15 15
H| JCET 3 — | BSHR (A Lb A LT L YT L Y
= R Ecei 30 | 1.1 [fd 4.2 TJﬁZﬂFZﬁ
BT sl - | B# Jﬁtt@r;ttﬁﬁittﬁﬁitbf%
NS gﬁﬂﬁiw%ﬁﬁﬁwﬁw6h1mém 40 | 1.1 = (AL
LRELLA D s 40 1.1 [l 2. 5[0 6. 30 3. 1l 3.1
| HAEBEHE 1~ 6 e 50 | 1.1 —| |
BENER 1~ 9 FH)2R 50 | 1.1 —| |l
Dl #EO e 30 | 1.1 [ff 3.6l 5. Ol 2. 1k 2. 1




